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(MEIX1/1)
IE4 IEEm IEHE MBI FEA
EHET—TE ¢ 150 L= 200 m 4H
X2—TH $ 150 L= 350 m 4R
BEX—TH ®150 L= 290 m 58
RAZTH $100 L= 200 m 5R
A= TE $150 L= 320 m 5H
RFWHHH ¢ 200 L= 850 m 58
RIET—TH @100 L= 370 m 58
K E T ¢ 100 L= 310 m 68
BEKEMREBEIE PEET ¢ 100 L= 240 m 1R
EHEE=TH ¢ 150 L= 160 m 78
HEEMTHE ¢ 300 L= 440 m 78
HIET—T B ¢ 100 L= 160 m 78
HAEERRE ¢ 350 L= 300 m 8H
AEHT $3BOH L= 450 m 8H
E4=1:) ¢ 150 L= 330 m 9A
KFEE ¢ 250 L= 230 m 108
th — @7 ¢ 300 L= 30 m 108
PW—TEH $700fth L= 120 m 8A
EKEMRIE
EHET—TE ¢ 500 L= 300 m 128
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IE4 IEEm IEHE MBI FEA
TEH-TH ¢ 150 L= 155 m 4R
EIEmT H & 200 L= 590 m 4H
[ige=dia) @100 L= 380 m 48
T a5 T i ¢ 100 L= 450 m 4R
ST BT ¢ 100 L= 250 m 5H
BorE=TE ¢ 150 L= 175 m 58
HE—TE ¢ 100 L= 250 m 5H
FIR=TH ®»100 L= 190 m 58
SHRHE-_TEM ¢ 100 L= 300 m 58
RE=ZTH ¢ 150 L= 210 m 68
e EEHET ¢ 150 L= 280 m 68

RKEMSEIE
REMTE & 100 L= 180 m 68
WiE—TE# ¢ 100 L= 100 m 65
HEA—TH $150 L= 200 m 78
RIEHT 100 L= 230 m 18
S ET At ® 100 L= 200 m 78
FEZ-TE ¢ 150 L= 205 m 78
BEA—TEM ¢ 100 L= 220 m 8A
BB (£D2) ¢ 150 L= 630 m 8A
KFHT ¢ 4501th L= 510 m 8H
BHiEZTH $100 L= 170 m 9R
B —TH ¢ 250 L= 450 m 9A8
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UNEIEK2/2)
IE4 TEERR IEHE HEISEAR

oy E—TE1 ¢ 150 L= 140 m 10RH

EFR—TEf# ¢ 600 L= 100 m 118
BEKEMRBIE

hiEO—TH ¢ 200th L= 400 m 128

HEFE=TH ¢ 4504t L= 50 m 128
INEBEKGHIEEESR o — EEEREED X
BEEHBANETE |00 B & %A
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IEE IE&Emm IEHME EIFEA
EEFE—THt $ 100 L= 685 m 4R
TEWROTE @100 L= 540 m 48
TER—TE @100 L= 140 m 4R
RETTE $ 100 L= 560 m 58
RHEAET—TH ¢ 150 L= 200 m 58
HREAE-TH @100 L= 260 m 58
TE=TE $ 100 L= 190 m 58
HIFETE T B ¢ 350 L= 450 m 58
REFERHET ¢ 100 L= 180 m 68
HE—TEft ¢ 100 L= 230 m 68
BER—TE 100 L= 265 m 68

RAKERKELISE
REZTH ® 100 L= 225 m 78
REETEM ® 300 L= 350 m 718
KFHFH ¢ 300 L= 200 m 78
FER=TH ®150 L= 520 m 8AH
TEHEH—TE ¢ 150 L= 660 m 9R
RE—TH @100 L= 155 m 9A
LEH-TE( ¢ 250 L= 390 m 108
BEREATE( ¢ 600 L= 110 m 107
BE—TAH ¢ 3001tk L= 210 m 108
BHETE ¢ 300 L= 90 m 1A
B RALET 200t L= 400 m 128
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IE4 TEERR IEHE HEISEAR
hEREATH ¢ 100 L= 300 m 18
BEXKEHMRBEIE
BEFET—THE ¢ 450 L= 330 m 2R
WEH=TH ¢1000fth L= 600 m 5H
EEIUT Bt ¢ 1000 L= 270 m 108
EXKEHMRBIE
AN ¢ 500 L= 350 m 128
RKFEH ¢ 700 L= 70 m 18
HFHEKISEEF1ith - :
EHTE HFH EEHFDOEH = 6H
HFEFEKTDRER . .
EEE}%}E&{%E%&I% #%lﬁ gnﬁ]*&d)%%ﬁ it 7H
BETLA—2EEH = . \ BETLA—45% .
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(FEHRX1.71)
I%EZ ITE&EM IEHE I FEAR
£ RET $150 L= 290 m 48
BWW=TH ¢ 150 L= 280 m 5A
==11]:) $ 150 L= 230 m 6RH
HEI=TE ¢ 150 L= 230 m 68
KFH i ¢ 100 L= 480 m 68
FKEMZELR
ZEBRTH $ 150 L= 320 m 78
AXFZHEOILIR) ¢ 350 L= 530 m 8H
XFLHEGIR) ¢ 200 L= 320 m 9A
KFLRE ¢ 100 L= 200 m 98
KFHJI ¢ 200 L= 230 m 108
BAERRELE (T |y (R-71TR) ¢ 200 L= 400 m 78
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(J\IBEX1.71)
IE4 IEER IEHE W ¥ER
BH*E=TH ¢ 150 L= 290 m 58
N ¢ 150 L= 600 m 58
WFE—TH ¢ 100 L= 100 m 68
B AET ¢ 300 L= 370 m 6H
BEXKEHMRBIE
EE=TH ¢ 300 L= 150 m 88
= REET ¢ 100 L= 250 m 9H
EHZ-TH ¢ 150 L= 210 m 98
EDOETRATH ¢ 350 L= 190 m 98
HE—TE(R22IRK) ¢ 700 L= 300 m 6H
KFRIHE ¢ 700 L= 185 m 9R
BEKEHMRBIE(T
7K)
RH—TH(R2-3ILR) ¢ 700 L= 220 m 128
HHE=TE ¢ 700 L= 170 m 128
EKEREBIE 7 3L LLIET ¢ 300 L= 240 m 6H
G2k EMBRERE |/\EFE ¢ 100 L= 310 m 98
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(J\IBFEX1.2)
I%EZ ITE&EM IEHE I FEAR
HBAETE $ 100 L= 630 m 48
ELF®RATH ¢ 200 L= 300 m 58
BHE_TH ¢ 150 L= 550 m 58
wEZ-TH ¢ 100 L= 450 m 58
ABRETE ¢ 100 L= 440 m 58
K AR ET $100 L= 300 m 58
FRYB=THE $100 L= 300 m 58
HW=TH @150 L= 620 m 58
ERMTE ¢ 250 L= 150 m 58
NMER—TH 75 L= 480 m 6R
RKEMIEILE
BIAART Bt ¢ 100 L= 440 m 68
K#E—TE ¢ 150 L= 430 m 6R
BI#x—TE ¢ 400 L= 410 m 78
ZINEZTE $ 100 L= 210 m 8H
EHBILE=TH $100 L= 150 m 98
EwH—TH @100 L= 190 m 9A8
AR—TE ¢ 150 L= 120 m 108
L LEERZTH @ 300 L= 400 m 108
BIfA=THE ¢ 350 L= 300 m 108
£RI—TH ¢ 400 L= 80 m 104
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IE% TEE/R IEHE EIFER

Z|F)I ¢ 500 L= 600 m 9R
BRAKERREISE

NE—TE ¢ 1200 L= 100 m 118
EKEMZBEIE(IK)|MEKR—TE ¢ 700 L= 300 m 118
AR KEEHFME |, . X
NERKISEBAILE - .
i EOE=TH EHAOES 1 st 64
AFBKIBBAERE |, BAERRED X
WEFRSHETE |L B B roR 78
NERKIGEKHERE - BKERORES i
Zki}’t/$7ki%’]\’r’r%ﬁ7k p s 5
BREHEHTE HEETHE REFOEH 1 =® 9R
HAREMBRAET \mou=THEEH HABOEH 1 R Y
NEFKIGMTOVIR sy — . . X
Sy TE EQER=THIZFA JOvOREoEH 1 & 108
ABHBRFRINZ Igou=THEH KEHBOEH 1 R 107
WEEERLEEEHE sy — . METEREE .
}_ﬁgﬁ.ﬂg* FEOE=THIZA DESF 1= 108
AEHBHRIIZT \mon=TREN REHOEH 1 = 108
W/ #AR TI5IEE A& e -
BRRESFEAHET MOR=TH FEORRER . n 107
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(FEX1.71)
IS4 TEERR IEHE HEISEAR
BRKAZTH ¢ 100 L= 330 m 58
EEMTE ¢ 150 L= 270 m 5H
il 7K BT ¢ 150 L= 420 m 58
BEXKEHMZBIE
RE—THE ¢ 100 L= 160 m 6H
)87 @100 L= 330 m 7H
HE/ KRBT ¢ 300 L= 350 m 8H
SEHT ¢ 600 L= 235 m 78
EXKEHRRBIE(T
7K)
FFE=TH ¢ 600 L= 85 m 108
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(st -HR—F1./1)

I=48 T=Em IEHE HEIPER
KERTFRIEERTE ¢ 75 L= 450 m 58
== e ) ¢ 75 L= 250 m 5K
KEETZFH-TH ¢ 100 L= 150 m 6H
EEBTILEE ¢ 75 L= 190 m 6H

BEKEMRELSE
KERHE=THE# ¢ 300 L= 570 m 6H
JKE BT = B H #hfth ¢ 200 L= 250 m 68
KEREHBM=TH ¢ 100 L= 250 m 8H
KEETHEE=THE ¢ 150 L= 680 m 8H
TNBERAHEERE |wop s 5 X
EQ%E*E%%E"’%I; EFEEIIAES K EEE:&1§G)E¥E = 108
EARBHEFRSE | hm—m REHOE % 105
EAREHRFRSE | hm—p KEF OES % 108
HRIUKISEEREE EERHERM .
SEEmEasETs |[VEW DEH = L
BRIEERUKISEEER BEYORER .
# a1 T KB fl i & 107
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